
Math Numbers Operations and Algebra 1_3

Student Name:________________________________ Date:____________________

1. 

7  8 = 15

A. −

B. +

C. x

  

2. 

7 + 3 = 

A. 11

B. 10

C. 9

3. 

2  3 = 5

A. +

B. −

C. x

4. 

Mateo will read 8 books.

He has already read 2.

How many more will he read?

A. 4

B. 6

C. 2



5. 

4 + 3 = 3 + __

A. 4

B. 5

C. 7

  

6. 

Pam picks 32 apples.

She gives 3 to Scott and 3 to Dave.

How many apples does she have left?

A. 26

B. 30

C. 6

7. 

A. 0

B. 2

C. 5

8. 

A farmer has 7 apple trees and 9 plum
trees in her orchard.

How many trees in all?

A. 15

B. 16

C. 18



9. 

What number is missing?

A. 7

B. 6

C. 9

  

10. 

4 + 5  3 + 3

A. <

B. =

C. >

11. 

Peter has 25 pennies.

He gives 5 to Sam and 5 to Jane. 

How many pennies does Peter have
left?

A. 10

B. 15

C. 20

12. 

8  5 = 3

A. −

B. +

C. x



13. 

Popular Lunches

What was the least popular lunch?

A. sandwich

B. taco

C. pizza

  

14. 

 +  = 

A.

B.

C.

15. 

A circus has 16 elephants.

There are 9 elephants with tusks.

How many elephants do not have
tusks?

A. 10

B. 7

C. 6

16. 

Jane has 12 stickers.

She gives 5 to Sam.

How many does she have left?

A. 5

B. 10

C. 7
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